Exit Ticket Y6 - Box Plots

The following table shows how long boys spent watching TV last
week:
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The following table shows how long boys spent watching TV
last week:

What is the interquartile range?
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The following box plots shows how long girls and boys spent watching
TV last week:
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On average, who watches TV for the longest?

Girls: because their maximum Girls: because their median is
value is greater greater

Boys: because their interquartile Boys: because their median is
C is lower greater

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:
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